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QUESTION 1

What can be used to test and publish Web services toIBM UDDI? 

A. Web Services Explorer 

B. IBM UDDI Test Registry 

C. Universal Test Client (UTC) 

D. Web services sample test JSPs 

Correct Answer: A 

 

QUESTION 2

In WebSphere Application Server Developer Tools with default settings, which situation willcause validation errors
instead of warnings in theProblems view? 

A. The closingtag of a form element in an HTML page is omitted and the file issaved. 

B. An optional header of a bundle manifest file ismisspelled in the Source view, and the fileis then
saved. 

C. A user is added to a basic user registry in theLibertyserver.xmlfile with a name anda password,
without the password beingencoded. 

D. A package is used and specified in anImport-Packageheader of a bundlemanifest file, and no
correspondingExport-Packageheader exists for the samepackage in the manifest file of anotherbundle in
the workspace. 

Correct Answer: D 

 

QUESTION 3

A. It will specify the WSDL location in the generated artifacts. 

B. It will specify the location of the WSDL from which to generate the Web service client artifacts 

C. It will specify the relative location of the WSDL file from which to generate the Web service client
artifacts 

D. It will ensure that the WSDL is packaged appropriately in the EAR file. 

Correct Answer: A 
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QUESTION 4

Using the WSDL editor, how can a developer create anew message for an operation input? 

A. 1. In the Graph view, right-click on space below the message column 

2.

 Select New -> Message 

3.

 Provide the name of the new message and click OK 

B. 1. In the Design view, right-click on the input message under the operation table 

2.

 Select Set Message -> New Message 

3.

 Provide the name of the new message and click OK 

C. 1. In the Design view, select the input message under the operation table 

2.

 Click on the Add message icon in the tool bar 

3.

 Provide the name of the new message and click OK 

D. 1. In the Graph view, right-click on the name of the input message 

2. Select New -> Message 

3. Provide the name of the new message and click OK 

Correct Answer: B 

 

QUESTION 5

While creating a new TCP/IP Monitor on IBM Rational Application DeveloperV7.5, if the HTTP option is
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selected, which one of the following is a valid statement? 

A. The TCP/IP Monitor ensures that the SOAP traffic is WS-I Compliant 

B. All the requests are sent byte for byte and the TCP/IP Monitor will not translate or modify any requests
that it forwards 

C. The requests from the Web browser are modified so that the HTTP header points to the remote
machine and separated if multiple requests are received in the same connection. 

D. The TCP/IP Monitor gets a handle of the SOAP envelop and if a WS-Addressing header exists,
modifies the wsa:To header to specify the end point of the remote machine dynamically 

Correct Answer: C 
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